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228|1 & % 500 |109/07/15 |A+ & pRsx % Lipsers £ |- 48 2
229\ 5 4 500 [109/07/15 |4+ € PRir2 Lgiders | £ [ 42 =
230| £ ¢ 500 |109/07/15 |i+ & pRss % Lipsers £ |- 48 2
231| 4 i} # 500 |109/07/15 |A+ & pRsx % Lipgers £ |- 48 2
232|157 i 3 500 |109/07/15 |A+ & pRss % Lipsers £ |- 48 2
233|2 & ¥ 500 [109/07/15 |+ € PRIxZ Lidsens (8 [- 48 2
234| 1 JroE 500 [109/07/15 |+ € PRA%Z Lidpsens (8 [- 48 2
235| + ¥ 2,000 [109/07/15 |4+ PRFx % Lipsces |2 |- 48 2
236[1f & % 1,000 |109/07/15 |i+ ¢ PR3%:2 Egpgees [ |- 48 =
237| 3 % % 1,000 [109/07/15 [A- g PRix 2 Lpderes £ |- 4p 2 =
238|zF % 500 [109/07/15 |+ € PRA%Z Lidpsens (8 [- 48 2
239 & & 500 |109/07/15 |+ & pRsx % &ipgers £ |- 48 2
240\ & 500 |109/07/15 |+ & PRsx % &ipsgcers £ |- 48 2
241|2 R 5E 500 |109/07/15 |+ & pRsx % &ipscers £ |- 48 2

22 B
249 :;i;;i;ﬂ 1,000 |109/07/15 [ikg reis 2 dspess |4 |- dxt =
243| et % 500 [109/07/15 |4+ € PRix2 Lipsers [ [523 Br & =
44|k 5 & 500 |109/07/15 |A+ € pRix2 Lapders (£ [23 pp & =
245 ik iF 700 [109/07/15 |A-€ PRir % Ldpsees [B |4 %8
2465 < 5 250 |109/07/16 |4+ & PR32 Lipsers [ |- 48 2
247 % &2 1,000 [109/07/16 |4+ € pRix% Lpfers (B |- 4 & 2
R 2 13 =
M8§W“F%”Em” 1,000 |109/07/16 (A€ pRis% &¥pfees (£ |- 422 =
&,

249|#% A A 1,500 [109/07/16 [#- g PRAx % Epderes £ |- 4p 2 =
250 #R i 45 1,500 [109/07/16 [i+ ¢ pRisx2 &apferes | £ |- 42 =
251|315 a 1,500 [109/07/16 [i+ ¢ pRis2 &apferes | £ |- 42 =
252|% & i 1,000 [109/07/16 [i+ ¢ pRisx2 &apderns | B |- 42 =
253|1 % % 1,000 [109/07/16 [ € PRAx2 Lapsees |2 [- 42 =
254 [ 5t 510 [109/07/16 |A € PRir % Lipscrs (£ [- 42 d 2
255\ & % 1,000 [109/07/16 [i+ ¢ pRis2 &apferes | B |- 42 =
256|:£ ¥ F 10, 000 [109/07/16 |4+ & PRFx% &ipsces | £ |- 48 2
257|779 7. 4 300 [109/07/16 |A-¢€ PRir % Lipsens (£ [- e 2
258|#% < 3 250 [109/07/16 |A-¢€ pRir % Lipsers (£ |90 Br s =
259|% % § 250 [109/07/16 |A+ € PRis % Lipgens [ [374 2 »
260[% % ¢ 250 |109/07/16 |At¢ PRix2 Lipdees £ [BEHEL ~
261 | ik iF 400 [109/07/16 |A- g PRAx 3 Lipdeet |2 | By B 2
262| 5% 5 250 |109/07/16 |4+ & pRix% Lipsens [ |2 %8 2
263|3n = 2 5,000 |109/07/16 |4 pRixz Ldpsces [ (2% E
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264|F FF 250 [109/07/16 |A- & PRix % &ipfees [ |miE e =
265|% # 250 [109/07/16 |it & PRix % A¥pdees | | g RiziEH L =
266 =8 % i 250 [109/07/16 it ¢ FRi% % Ldpsees [ "B d »
267 % 15 1.8 42~ 488 |109/07/17 |Ax € rRir2 &apfees [£ - 42 =
268|111 300 |109/07/17 |A-€ PR32 Lepters |8 [- 4% =
2695w 2,000 [109/07/17 |4t § PRax% et | |- & =
270| % 2 ¥ 500 [109/07/17 |A-€ PRix % Edpsces (£ [- e 2
271 [F R 2 500 [109/07/17 |A- € Ris % Aipfees [ |22 =
272| ¢ % 4h 250 [109/07/21 |A- € PRFx % Aipfers [B |- 4p & =
AR A3 250 [109/07/21 |A€ PRir 2 Ldpsces [£ |- e 2
2747 % 250 [109/07/21 |A- € PRFx % Aipfees [ |- 4p & =
275(# i 250 [109/07/21 |A-€ PRFx % Aipfees [ |- 4p & =
276(% 5 1175 600 [109/07/21 |i+ g pRir% Lipfens | £ |- 4k =
27|38 7e & 500 [109/07/21 |A & PRFx2 Lpfens [£ |- 48 =
278[ § % 500 [109/07/21 |A & PRFx2 Epfens [£ |- 48 =
279[ 5% iR g 2,000 [109/07/21 [4t g PRixz Lipkees [£ |- 48 =
280(FF &£ (B&EA) 1,000 [109/07/21 |4+ € PR32 Lpers |2 |- 42 »
281 (3% % 3% 1,500 |109/07/21 |A+ € pRis2 Epfens [ |- 48 =
282[3% = 4r 1,500 |109/07/21 |A+ ¢ pRis2 Epfens [ |- 48 =
283[2 % & 1,500 |109/07/21 |A € pRis2 Epfens [ |- 4% =
284[37 1 5% 1,500 |109/07/21 |A+ € pRis2 Eipfens [ |- 48 =
285[fr B & 2,000 [109/07/21 |4+ ¢ pRix2 Lipgers |8 |- 48
286| i 7 & 1,000 |109/07/21 |A+ € pRix2 Epfens [ |- 48 =
287[% e (2 3 500 [109/07/21 |A-€ PRFx % Aipfers B |- 4p & =
288[% ¥ & 500 [109/07/21 |i+ & PRAx2 Apfens (£ |- 48 =
289[m 2 4= 10,000 [109/07/21 [4t g PRir2 Lipsees |2 (B s d o
290[# 5 & 20,000 [109/07/21 |+ g pRirz Lapgees |2 [w & 2
291 % s 1 Je > 5,362 [109/07/22 [4t g pRir2 Lipkees [ |- 48 =
292[2 AP 3k 10,000 [109/07/22 [4t g PRz 2 Lgpkees [ |- 42 =
293[% % 5,000 [109/07/22 [4- g PRz Lipkees [ |- 48 =
2947 § 750 [109/07/22 |A-€ Rix % Aipfers [ |- 4 & =
295 £ 4 ik 750 [109/07/22 |A-€ Rix % Aipfers [ |- 42 =
296[4 & =% 1,015 |109/07/22 |A+€ mRis% EGipfers [ |- 42 =
27| &% 215 [109/07/22 |A-€ Rix % &ipfers [ |- 4 & =
298|382 48 1,000 [109/07/22 [i+ ¢ pRix2 Eapfens [ |- 42 =
299|858 & 1,000 [109/07/22 [i+ ¢ pRix2 Eapfens [ |- 42 =
300[ % =97 600 [109/07/22 |A-€ Rix% &ipfers [ |- 42 =
301 [ % 3% 1.4 e » 1,463 |109/07/22 |i+ € pRix2 Eipfens |8 |- 42 =
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302| % 5 1.8 4z » 1,706 [109/07/22 [ g PRix 2 Lapdees £ |- 4p 2 =
303 |t % 4,000 [109/07/22 |4+ ¢ pR5x2 &Lipsens £ |- 48 2
304|358 # i 1,000 [109/07/22 [i+ & pR5x2 &pseres | £ |- 4% =
305| & % #¢ 750 [109/07/22 |A-€ pRirx Edpsees [E |23 Brd =
30617 i i 750 [109/07/22 |i+ € PRix2 Lipscrt (8 [BEp B L =
307| 4k = 25,000 [109/07/23 |A+ g PRFx2 Lipdemt |[£ |- 4% =
308tk £ % 1,000 [109/07/23 [t g PRir2 Lapderes £ |- 42 »
309|% F& 1,000 [109/07/23 [i+ & pR5x% &pskers | £ |- 4% =
310|+riF 6,000 |109/07/23 |4+ & pRix2 Lipscrs (8 [- 48 2
311 |4k & 6,000 [109/07/23 |4+ € PRix2 Lipsces |8 |- a8 2
312|th % 4 50,000 [109/07/23 |A+ g PRix% &gkt [£ |2 % & =
313|% 5 {2 25,000 [109/07/23 |Atg PRir2 Lipfers [H |2 % & =

B AL s 38
3l4{mAargigfl &L £ ¥ | 10,000 |109/07/24 |A € PRix% A¥pfees [ |- &&=
g

15[ it 44 300 |109/07/24 |i: & prir 2 Ldpgees £ |- &g 2
316|% ¥4 300 |109/07/24 |i+ & pRix% Lipgers [ |- 48 2
317|795 4 600 [109/07/24 |+ & pRinz Eipgees (8 [- i =
318|1 ik ¥ 500 [109/07/24 |+ & pRinz &Eipgees (8 [- i =
319|% 2 < 100 [109/07/24 [t ¢ PRix % Lapteres |[£ |- 4n 2 =
320\ % 3 4 100 [109/07/24 [t g PRix % Lapterns |[£ |- 4nd =
321| % g 100 [109/07/24 [+ ¢ PRix% Lapferes |[£ |- 4nd =
322\ FihF 200 [109/07/24 |i+ € pRix2 Lgpfers |8 |- 48 »
323| m Er A 200 |109/07/27 |i+ € PR5x% &ipsers [ |- 48 2
324|:7 # e 2,000 [109/07/27 |+ € pRix2 &Lipgers |8 |- 48 2
325|157 BL 47 1,000 [109/07/27 [ g PRix2 Lpderes £ |- 4p 2 =
3262 2 500 [109/07/27 |A € PRix2 Eipgens (8 [~ 48 2
32T|ME & * 500 [109/07/27 |A+ € pRix2 Lgpfers |8 |- 48 »
328|% I & 500 |109/07/27 |it € pRix2 Lgpgers |8 |- 4 =
329| 5= % 200 [109/07/27 |i+ € PRix2 Lipgens (8 [~ 4
330| 3% £ i 500 |109/07/27 |a+ ¢ prssz &spgers |8 |- 48
331z A R 500 |109/07/27 |a+ ¢ prssz &spgers |8 |- 48 »
332|%E ik 300 |109/07/27 |a ¢ prsrz Lspgens |8 |- 48
333[FA & 200 [109/07/27 At g rrir s Lepgens | |- 4% 2
334| % tp i 100 [109/07/27 |4+ PRFx % &ipsees |2 |574 528 =
335|% A A 100 [109/07/27 [+ € PR32z Lapfens |2 [374 & =
336| % 100 [109/07/27 |4+ PRFx % &ipsees |2 |574 528 =
3371+ & 200 [109/07/27 |A- ¢ PRix % EEpgees [ (g
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338|% & i 500 [109/07/27 |k & PRir % &opdees | £ ks =
3392 12,000 [109/07/28 [4 ¢ pRis 2 &dpfees [ |- ixd =
AR A Sa 2
340 & AtAL € AR & L & 3,000 |109/07/28 |4+ ¢ PRF%2 Eipfees [E |- &E &
E A
341 |k » 4 100 |109/07/28 |4t § PRss % Aspgens [ |- dp & 2
342[m & v 100 |109/07/28 |4t § PRFr % Aspgens [ |- dp & 2
343| %3t ¥ 100 |109/07/28 |4t § FR4x% A dees |8 |- 4kt 2
34| 7 F = 100 |109/07/28 |4t § FR4x% A dees [ |- 4kt #
3451 B 100 |109/07/28 |4t § FR4x% A dees |8 |- 4kt 2
346|m 5 % 100 |109/07/28 |4t § PR4x% A dees |8 |- 4k b 2
347| % & £ 100 |109/07/28 |4t § PR4x% A dees |8 |- 4kt 2
348 % v 100 |109/07/28 |4t § FR4x% A dees |8 |- 4k b 2
34958k 5 100 |109/07/28 |4t § PRir % Aspgens [ |- dx & 2
350[ % & 7 100 [109/07/28 |4t ¢ PRix2 &ipgces |2 [- 48 2
3| =% % 100 |109/07/28 [t & rrixz &ipferns | £ |- 42 =
352 ik = 100 |109/07/28 |4k § FRix% Adees [£ |- 4k b 2
35348 £ 1o 100 |109/07/28 |4k § FRix% Adees [ |- 4kt 2
354 #1 5 ik 100 |109/07/28 |4t § PRix% Adees [£ |- 4k b 2
355| ¥ 43 100 |109/07/28 |4t § FRix% Adees [£ |- 4k b 2
356/% = % 300 [109/07/28 |ix & pRir% &apfees | £ |- &2k =
357| %423 3,000 |109/07/29 |4t § PRis% Aupgcres [ |- 4 & 2
358 | thah & 1,200 [109/07/29 |A+ & prix2 &dpfers [ |- ixd =
359[% 4 # 1,200 [109/07/29 |A+ & prix2 &dpfees [ |- ixd =
360 % &P 1,200 [109/07/29 |A+ & PRix% &gpfees £ |- ixd =
361[% % 1,200 [109/07/29 |A+ & PRix% &gpdees B |- b =
362/ & % 3,000 |109/07/29 |4t g PRis% &upgcrs [ |- 4 & 2
363[E =8 & % 3,000 |109/07/29 |4t g PRis% &upgers [ |- 4 & 2
364| & % 3,000 |109/07/29 |4t g PRis% &upgers [ |- 4 & 2
365| & 3,000 |109/07/29 |4t g PRis2 Aupgcrs [ |- 4 & 2
366 |17 "¢ 4 3,000 |109/07/29 |4t g PRis% &upgers [ |- 4 & 2
367[3" 4t 1,000 [109/07/29 |A+ & prirz Ldpfess [ |2 %%
%@i“‘ﬁi%”$§ 3,000 [109/07/30 |4t ¢ pRarz &apfees |2 |- 4xd =
369 ~ aF &t 1,250 |109/07/30 |t g PRA%% &¥sees |[£ |- &t »
370[ % i 414 4z » 4,387 |109/07/30 |4t § PRs % Aupgers [ |- 4x & 2
371 % 14 e » 16,576 [109/07/30 [4: € pRis 2 &dpsers [ |- 4 d =
372| £ & 5t 1,250 [109/07/30 |t & PRix% &¥pdees |2 [25 Bep &
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3T3|1§ i pir 1,250 [109/07/30 [k g MRis2 & spdees |[§  [574 2% =
374|417 i Pt 1,250 |109/07/30 [+ g PRAx% L ipfees | [AHR S =
375[ir 7 § 1,250 [109/07/30 [k § PRI%2 Eipdres |8 |BF Hfp b =
376[3 2 1,250 [109/07/30 [+ § PRI%2 &dpdees |4 | %% =
377|322 w 1,250 [109/07/30 [+ § PRI%2 &gpdees |4 |Rg s =
378[ix ™ § 1,250 [109/07/30 [k ¢ mix2 &¥pders |8 | sh =
3792 T % 1,000 [109/07/31 [+ g PRi%2 &gpdees | |- &% =
380+ % iF + ¥ foiF 1,000 [109/07/31 [k g mir2 &¥pders |8 |- % =
381|% seibt ¥ foif 1,000 [109/07/31 [k g mir2 &¥pders |8 |- % =
38214 * & 1,500 [109/07/31 [t ¢ pRir3 &spders | £ g S =
383| 1k i 1,500 [109/07/31 [k g mir2 &¥pders |8 |k s =
384| % & #* 600 [109/07/31 |4+ § pRir2 & ¥dees |4 |65 =




